MATHS

BOOKS - SELINA MATHS (ENGLISH)

PROBABILITY

1. Find the probability of getting a head when

a coin is tossed once.

[ o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Rya4BznitKh1

2. A bag contains a black ball, a red ball and a
green ball, all the balls are identical in shape
and size. Mohit takes out a ball from the bag,
without looking into it. What is the probability
that the ball drawn is :

(i) red ball ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Rya4BznitKh1
https://dl.doubtnut.com/l/_TRmYF148L60K

3. A bag contains a black ball, a red ball and a
green ball, all the balls are identical in shape
and size. Mohit takes out a ball from the bag,
without looking into it. What is the probability
that the ball drawn is :

(ii) black ball ?

o Watch Video Solution

4. A bag contains a black ball, a red ball and a

green ball, all the balls are identical in shape


https://dl.doubtnut.com/l/_EbKywSPnke3m
https://dl.doubtnut.com/l/_mSGSW27YxlTc

and size. Mohit takes out a ball from the bag,
without looking into it. What is the probability
that the ball drawn is :

green ball ?

° Watch Video Solution

5. In a single throw of a dice, find the
probability of getting a number :

(i) greater than 2

° Watch Video Solution



https://dl.doubtnut.com/l/_mSGSW27YxlTc
https://dl.doubtnut.com/l/_JnxMtoAKvPcq
https://dl.doubtnut.com/l/_7DNDwLpUEZYe

6. In a single throw of a dice, find the
probability of getting a number :

(i1) less than or equal to 2

° Watch Video Solution

7. In a single throw of a dice, find the
probability of getting a number :

not greater than 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_7DNDwLpUEZYe
https://dl.doubtnut.com/l/_7pZgofCEln4r
https://dl.doubtnut.com/l/_3hsaWECQtEte

8. From a well-shuffled deck of 52 cards, one
card is drawn. Find the probability that the
card drawn will :

(i) be a face card

o Watch Video Solution

9. From a well-shuffled deck of 52 cards, one
card is drawn. Find the probability that the
card drawn will :

not be a face card.

° Watch Video Solution



https://dl.doubtnut.com/l/_3hsaWECQtEte
https://dl.doubtnut.com/l/_urQ6vXMysYk5

10.In a badminton match between Rajesh and
Joseph, the probability of winning of Rajesh is
0.58. Find the probability of :

(i) not winning of Rajesh,

o Watch Video Solution

11. In a badminton match between Rajesh and
Joseph, the probability of winning of Rajesh is
0.58. Find the probability of :

(ii) winning of Joseph.


https://dl.doubtnut.com/l/_urQ6vXMysYk5
https://dl.doubtnut.com/l/_EMRUmt2RFpw3
https://dl.doubtnut.com/l/_ydw62WIRKQZf

° Watch Video Solution

12. In a single throw of a dice, find the

probability of getting : (i) 7

o Watch Video Solution

13. In a single throw of a dice, find the
probability of getting : (ii) a number less than

/.

o Watch Video Solution



https://dl.doubtnut.com/l/_ydw62WIRKQZf
https://dl.doubtnut.com/l/_XxgTMjsO9Jex
https://dl.doubtnut.com/l/_UzEji885LWNq

14. A dice is thrown once. Find the probability
of getting :

an odd number

o Watch Video Solution

15. A dice is thrown once. Find the probability
of getting :

a number greater than 4

o Watch Video Solution



https://dl.doubtnut.com/l/_UzEji885LWNq
https://dl.doubtnut.com/l/_S1hRAba07liz
https://dl.doubtnut.com/l/_9Q2c19qeX5SK

16. A dice is thrown once. Find the probability
of getting :

a humber between 2 and 6.

o Watch Video Solution

17. Two dice are thrown simultaneously. Find
the probability that :

both the dice show the same number.

o Watch Video Solution



https://dl.doubtnut.com/l/_thlLQai0fC5L
https://dl.doubtnut.com/l/_AX0fN2KCn4Lm
https://dl.doubtnut.com/l/_hRtoRuGLNbwC

18. Two dice are thrown simultaneously. Find
the probability that :

the first dice shows 6.

o Watch Video Solution

19. Two dice are thrown simultaneously. Find
the probability that :
the total (sum) of the numbers on the dice is

0.

° Watch Video Solution



https://dl.doubtnut.com/l/_hRtoRuGLNbwC
https://dl.doubtnut.com/l/_QxlSt4MQ3sNZ

20. Two dice are thrown simultaneously. Find
the probability that :

the product of the numbers on the dice is 8.

o Watch Video Solution

21. Two dice are thrown simultaneously. Find
the probability that :
the total of the numbers on the dice is greater

than 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_G1lIv1O74Uar
https://dl.doubtnut.com/l/_QjJWjDDXdTYK

22. A card is drawn from a pack of 100 cards
numbered 1 to 100. Find the probability of

drawing a number which is a perfect square.

° Watch Video Solution

23. Three identical coins are tossed together.
What is the probability of obtaining :

all heads ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QjJWjDDXdTYK
https://dl.doubtnut.com/l/_ELFC4DvxTsD1
https://dl.doubtnut.com/l/_vEmcb1Rsn2wz

24. Three identical coins are tossed together.
What is the probability of obtaining :

exactly two heads ?

o Watch Video Solution

25. Three identical coins are tossed together.
What is the probability of obtaining :

exactly one head ?

o Watch Video Solution



https://dl.doubtnut.com/l/_a8xqq0rAxt1O
https://dl.doubtnut.com/l/_QBcTvovOJkzz
https://dl.doubtnut.com/l/_dI0q2KfNqoss

26. Three identical coins are tossed together.
What is the probability of obtaining :

at least one head ?

o Watch Video Solution

27. Three identical coins are tossed together.
What is the probability of obtaining :

at least two heads ?

o Watch Video Solution



https://dl.doubtnut.com/l/_dI0q2KfNqoss
https://dl.doubtnut.com/l/_fh5POgQkdyeE
https://dl.doubtnut.com/l/_JDUTB3OywmRH

28. Three identical coins are tossed together.
What is the probability of obtaining :

all tails ?

o Watch Video Solution

29. Two dice are rolled simultaneously. Find
the probability of :

obtaining a total of at least 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_JDUTB3OywmRH
https://dl.doubtnut.com/l/_FUqGrsfpL9Rc

30. Two dice are rolled simultaneously. Find
the probability of :
getting a multiple of 2 on one dice and a

multiple of 3 on the other dice.

° Watch Video Solution

31. Two dice are rolled simultaneously. Find the
probability of :

getting a multiple of 3 as the sum.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ay5uIlcxSoEe
https://dl.doubtnut.com/l/_NisNHCQzx3Ol

32. A dice is thrown two times. Find the
probability that the product of numbers of the
dice s :

4

o Watch Video Solution

33. A dice is thrown two times. Find the
probability that the product of numbers of the

diceis :


https://dl.doubtnut.com/l/_NisNHCQzx3Ol
https://dl.doubtnut.com/l/_zYKULFeWbp6I
https://dl.doubtnut.com/l/_N5BmVeSAIBAm

° Watch Video Solution

34. A dice is thrown two times. Find the
probability that the product of numbers of the
diceis :

a perfect square.

o Watch Video Solution

35. A dice is rolled two times or two dice are

rolled together. Find the probability of


https://dl.doubtnut.com/l/_N5BmVeSAIBAm
https://dl.doubtnut.com/l/_bhuGjVe6hBhE
https://dl.doubtnut.com/l/_mRb3BEPD0LdW

getting:

an even number on each dice.

° Watch Video Solution

36. A dice is rolled two times or two dice are
rolled together. Find the probability of
getting:

a prime number on each dice.

o Watch Video Solution



https://dl.doubtnut.com/l/_mRb3BEPD0LdW
https://dl.doubtnut.com/l/_xkTIxRleqtBB

37. A dice is rolled two times or two dice are
rolled together. Find the probability of
getting:

(iii) a composite number on each dice.

o Watch Video Solution

38. From the pack of 52 playing cards, the
black face cards are removed. Now the cards
are re-shuffled and then a card is drawn from

the remaining pack of cards. Find the


https://dl.doubtnut.com/l/_zNR6nhVJ1RHB
https://dl.doubtnut.com/l/_Rx8h2xsQE5sv

probability that the card drawn is :

(i) a black card

° Watch Video Solution

39. From the pack of 52 playing cards, the
black face cards are removed. Now the cards
are re-shuffled and then a card is drawn from
the remaining pack of cards. Find the
probability that the card drawn is :

(i) a king

o Watch Video Solution



https://dl.doubtnut.com/l/_Rx8h2xsQE5sv
https://dl.doubtnut.com/l/_KNf6gDlRavGN

40. From the pack of 52 playing cards, the
black face cards are removed. Now the cards
are re-shuffled and then a card is drawn from
the remaining pack of cards. Find the
probability that the card drawn is :

(iii) an ace

o Watch Video Solution

41. From the pack of 52 playing cards, the black

face cards are removed. Now the cards are re-


https://dl.doubtnut.com/l/_KNf6gDlRavGN
https://dl.doubtnut.com/l/_x6x9OOlsOhhr
https://dl.doubtnut.com/l/_fh5wcratT3tR

shuffled and then a card is drawn from the
remaining pack of cards. Find the probability
that the card drawn is :

(iv) a spade card

° Watch Video Solution

Exercise 25 A

1. A coin is tossed once. Find the probability of

(1) getting a tail.



https://dl.doubtnut.com/l/_fh5wcratT3tR
https://dl.doubtnut.com/l/_CN1vrjkKeb0W

o Watch Video Solution

2. A coin is tossed once. Find the probability of

(i) not getting a tail.

o Watch Video Solution

3. A bag contains 3 white, 5 black and 2 red
balls, all of the same shape and size. A ball is

drawn from the bag without looking into it,


https://dl.doubtnut.com/l/_CN1vrjkKeb0W
https://dl.doubtnut.com/l/_QS4Z4S2LLfJN
https://dl.doubtnut.com/l/_hSbZNjtXJNpU

find the probability that the ball drawn is :

(i) a black ball.

° Watch Video Solution

4. A bag contains 3 white, 5 black and 2 red
balls, all of the same shape and size. A ball is
drawn from the bag without looking into it,
find the probability that the ball drawn is :

(ii) a red ball.

° Watch Video Solution



https://dl.doubtnut.com/l/_hSbZNjtXJNpU
https://dl.doubtnut.com/l/_do99EcfyChDI
https://dl.doubtnut.com/l/_vqtvg7E4xwkD

5. A bag contains 3 white, 5 black and 2 red
balls, all of the same shape and size. A ball is
drawn from the bag without looking into it,
find the probability that the ball drawn is:

(iii) a white ball.

o Watch Video Solution

6. A bag contains 3 white, 5 black and 2 red
balls, all of the same shape and size. A ball is

drawn from the bag without looking into it,


https://dl.doubtnut.com/l/_vqtvg7E4xwkD
https://dl.doubtnut.com/l/_IHMcvFHFRicK

find the probability that the ball drawn is :

(iv) not a red ball.

° Watch Video Solution

7. A bag contains 3 white, 5 black and 2 red
balls, all of the same shape and size. A ball is
drawn from the bag without looking into it,
find the probability that the ball drawn is :

(v) not a black ball.

° Watch Video Solution



https://dl.doubtnut.com/l/_IHMcvFHFRicK
https://dl.doubtnut.com/l/_GyebcJ44TYgK
https://dl.doubtnut.com/l/_pHliaIWj0IX7

8. In a single throw of a dice, find the
probability of getting a number :

(i) greater than 4.

° Watch Video Solution

9. In a single throw of a dice, find the
probability of getting a number :

(i) less than or equal to 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_pHliaIWj0IX7
https://dl.doubtnut.com/l/_0peyxvLDO1Ph
https://dl.doubtnut.com/l/_1zPvJN4iJYC3

10. In a single throw of a dice, find the
probability of getting a number :

(i) not greater than 4.

° Watch Video Solution

1. In a single throw of a die, find the
probability that the number:

will be an even number

° Watch Video Solution



https://dl.doubtnut.com/l/_1zPvJN4iJYC3
https://dl.doubtnut.com/l/_lOsqo9YoR94h

12. In a single throw of a die, find the
probability that the number:

will not be an even number

o Watch Video Solution

13. In a single throw of a die, find the
probability that the number:

will be an odd humber

o Watch Video Solution



https://dl.doubtnut.com/l/_9wveruIrRf10
https://dl.doubtnut.com/l/_s5X9H5HFpt0E
https://dl.doubtnut.com/l/_Cu6tTXlOvk0z

14. From a well-shuffled deck of 52 playing-
cards, one card is drawn. Find the probability

that the card drawn will :

(i) be a black card.

o Watch Video Solution

15. From a well-shuffled deck of 52 playing-
cards, one card is drawn. Find the probability
that the card drawn will :

(ii) not be a red card.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cu6tTXlOvk0z
https://dl.doubtnut.com/l/_N4J3iUWUfYs4

16. From a well-shuffled deck of 52 playing-
cards, one card is drawn. Find the probability
that the card drawn will :

(iii) be a red card.

o Watch Video Solution

17. From a well-shuffled deck of 52 playing-

cards, one card is drawn. Find the probability


https://dl.doubtnut.com/l/_N4J3iUWUfYs4
https://dl.doubtnut.com/l/_Ib8EIJajtYoa
https://dl.doubtnut.com/l/_2QuF4KvnoSKc

that the card drawn will :

(iv) be a face card.

° Watch Video Solution

18. From a well-shuffled deck of 52 playing-
cards, one card is drawn. Find the probability
that the card drawn will be a face card of red

colour.

o Watch Video Solution



https://dl.doubtnut.com/l/_2QuF4KvnoSKc
https://dl.doubtnut.com/l/_GoEXoQKPdoAU

19. (i) If A and B are two complementary events

then what is the relation between P(A) and

P(B) ?

o Watch Video Solution

20.If the probability of happening of an event
A is 0.46. What will be the probability of not

happening of the event A?

o Watch Video Solution



https://dl.doubtnut.com/l/_E6o4UqIAXLm1
https://dl.doubtnut.com/l/_lWyQSfQWSpLu
https://dl.doubtnut.com/l/_uA4FYwWIGL6j

21.In a T.T. match between Geeta and Ritu, the
probability of the winning of Ritu is 0.73. Find
the probability of :

(i) winning of Geeta.

o Watch Video Solution

22.In a T.T. match between Geeta and Ritu, the
probability of the winning of Ritu is 0.73. Find
the probability of :

(i) not winning of Ritu.

o Watch Video Solution



https://dl.doubtnut.com/l/_uA4FYwWIGL6j
https://dl.doubtnut.com/l/_MYeyOA00jR61

23. In a race between Mahesh and John, the
probability that John will lose the race is 0.54.
Find the probability of :

(i) winning of Mahesh.

o Watch Video Solution

24. In a race between Mahesh and John, the

probability that John will lose the race is 0.54.


https://dl.doubtnut.com/l/_MYeyOA00jR61
https://dl.doubtnut.com/l/_L5C5PS5J9EhM
https://dl.doubtnut.com/l/_9N9JrMMhtjFr

Find the probability of :

(ii) winning of John.

° Watch Video Solution

25. (i) Write the probability of a sure event.

° Watch Video Solution

26. (ii) Write the probability of an event which

is impossible.

o Watch Video Solution



https://dl.doubtnut.com/l/_9N9JrMMhtjFr
https://dl.doubtnut.com/l/_VkthmL0omYOX
https://dl.doubtnut.com/l/_t8QB1yhzwkbw

27. (iii) For an event E, write a relation

representing the range of values of P(E).

° Watch Video Solution

28. In a single throw of a dice, find the

probability of getting : (i) 5

o Watch Video Solution



https://dl.doubtnut.com/l/_t8QB1yhzwkbw
https://dl.doubtnut.com/l/_pk1IUAHImstU
https://dl.doubtnut.com/l/_ijbS9NTAXtUI

29. In a single throw of a dice, find the

probability of getting : 8

o Watch Video Solution

30. In a single throw of a dice, find the

probability of getting : a number less than 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_JZkMaD7sXwXQ
https://dl.doubtnut.com/l/_4Yfr0DiisDos

31. In a single throw of a dice, find the

probability of getting : a prime number.

o Watch Video Solution

32. A dice is thrown once. Find the probability
of getting :

(i) an even number.

o Watch Video Solution



https://dl.doubtnut.com/l/_crUvxumm5kss
https://dl.doubtnut.com/l/_uAqX7ajvOMLq

33. A dice is thrown once. Find the probability
of getting :

(i) a number between 3 and 8.

o Watch Video Solution

34. A dice is thrown once. Find the probability
of getting :

(iii) an even number or a multiple of 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_HHzmYbWMKk7l
https://dl.doubtnut.com/l/_MwFBT2aIdsmq
https://dl.doubtnut.com/l/_MCqw0kkwhMIk

35. Which of the following cannot be the

probability of an event ?

0>
"5

o Watch Video Solution

36. Which of the following cannot be the

probability of an event ?

(i) 2.7

o Watch Video Solution



https://dl.doubtnut.com/l/_MCqw0kkwhMIk
https://dl.doubtnut.com/l/_1RfnhPj0B8dS
https://dl.doubtnut.com/l/_GPEM8kLjKGVV

37. Which of the following cannot be the

probability of an event ?

(iii) 43 %

o Watch Video Solution

38. Which of the following cannot be the

probability of an event ?

(iv) —0, 6

o Watch Video Solution



https://dl.doubtnut.com/l/_GPEM8kLjKGVV
https://dl.doubtnut.com/l/_EZfjjWShOUDZ

39. Which of the following cannot be the

probability of an event ?

(v) —3.2

o Watch Video Solution

40. Which of the following cannot be the

probability of an event ?

(iv) 0.35

o Watch Video Solution



https://dl.doubtnut.com/l/_rAurm798yIrh
https://dl.doubtnut.com/l/_ndcZ1bivx9Fk
https://dl.doubtnut.com/l/_bFudgJ5yqWmW

41. A bag contains six identical black balls. A
child withdraws one ball from the bag without
looking into it. What is the probability that he
takes out :

a white ball ?

o Watch Video Solution

42. A bag contains six identical black balls. A
child withdraws one ball from the bag without

looking into it. What is the probability that he


https://dl.doubtnut.com/l/_bFudgJ5yqWmW
https://dl.doubtnut.com/l/_rAeIsToqSFAF

takes out :

a black ball ?

° Watch Video Solution

43. A single letter is selected at random from
the word 'Probability’

. Find the probability that it is a vowel.

° Watch Video Solution



https://dl.doubtnut.com/l/_rAeIsToqSFAF
https://dl.doubtnut.com/l/_IOu84XVAUdNP

44, Ramesh chooses a date at random in
January for a party (see the following figure).
Find the probability that he chooses :

(1) a Wednesday

o Watch Video Solution

45. Ramesh chooses a date at random in
January for a party (see the following figure).
Find the probability that he chooses :

(i) a Friday

| I


https://dl.doubtnut.com/l/_H6YLmdIeyDcz
https://dl.doubtnut.com/l/_kmu3tZhnCWsP

| ¥ Watch Video Solution |

46. Ramesh chooses a date at random in
January for a party (see the following figure).
Find the probability that he chooses :

(iii) a Tuesday or a Saturday.

o Watch Video Solution

Exercise 25 B



https://dl.doubtnut.com/l/_kmu3tZhnCWsP
https://dl.doubtnut.com/l/_EcAFVRewxwxA

1. Nine cards (identical in all respects) are
numbered 2 to 10. A card is selected from
them at random. Find the probability that the
card selected will be :

an even number.

o Watch Video Solution

2. Nine cards (identical in all respects) are
numbered 2 to 10. A card is selected from

them at random. Find the probability that the


https://dl.doubtnut.com/l/_ZmQPYJ0griEF
https://dl.doubtnut.com/l/_M0RJNY647V2q

card selected will be :

a multiple of 3.

° Watch Video Solution

3. Nine cards (identical in all respects) are
numbered 2 to 10. A card is selected from
them at random. Find the probability that the
card selected will be :

an even number and a multiple of 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_M0RJNY647V2q
https://dl.doubtnut.com/l/_OYEub1OLyaFO
https://dl.doubtnut.com/l/_A4kKLc5RxEgZ

4. Nine cards (identical in all respects) are
numbered 2 to 10. A card is selected from
them at random. Find the probability that the
card selected will be :

->an even number or a multiple of 3.

o Watch Video Solution

5. Hundred identical cards are numbered from
1to 100. The cards are well shuffled and then a

card is drawn. Find the probability that the


https://dl.doubtnut.com/l/_A4kKLc5RxEgZ
https://dl.doubtnut.com/l/_o9kzzyE9sw4l

number on the card drawn is :

(i) a multiple of 5.

° Watch Video Solution

6. Hundred identical cards are numbered from
1to 100. The cards are well shuffled and then a
card is drawn. Find the probability that the
number on the card drawn is :

(ii) a multiple of 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_o9kzzyE9sw4l
https://dl.doubtnut.com/l/_1Bv5CxZ6Tsx0
https://dl.doubtnut.com/l/_TxGI2RoCnkTq

7. Hundred identical cards are numbered from
1to 100. The cards are well shuffled and then a
card is drawn. Find the probability that the
number on the card drawn is :

(iii) between 40 and 60.

o Watch Video Solution

8. Hundred identical cards are numbered from
1to 100. The cards are well shuffled and then a
card is drawn. Find the probability that the

number on the card drawn is greater than 85.


https://dl.doubtnut.com/l/_TxGI2RoCnkTq
https://dl.doubtnut.com/l/_PzswjUHUCA4v

o Watch Video Solution

9. Hundred identical cards are numbered from
1to 100. The cards are well shuffled and then a
card is drawn. Find the probability that the

number on the card drawn is less than 48.

o Watch Video Solution

10. From 25 identical cards, numbered 1, 2, 3,

45....,24,25 one card is drawn at random.


https://dl.doubtnut.com/l/_PzswjUHUCA4v
https://dl.doubtnut.com/l/_xxXcF5CFCBjq
https://dl.doubtnut.com/l/_YBFP5rYZ5Cuh

Find the probability that the number on the
card drawn :

is a multiple of 3

o Watch Video Solution

1. From 25 identical cards, numbered 1, 2, 3,
45....,24,25 one card is drawn at random.
Find the probability that the number on the
card drawn

is a multiple of : 5

o Watch Video Solution



https://dl.doubtnut.com/l/_YBFP5rYZ5Cuh
https://dl.doubtnut.com/l/_lVKm0XHpjJVe

12. From 25 identical cards, numbered 1, 2, 3,
4,5.....,24,25 one card is drawn at random.
Find the probability that the number on the
card drawn

is a multiple of 3 and 5

o Watch Video Solution

13. From 25 identical cards, numbered 1, 2, 3,
45....,24,25 one card is drawn at random.

Find the probability that the number on the


https://dl.doubtnut.com/l/_lVKm0XHpjJVe
https://dl.doubtnut.com/l/_7Bi0MpECMo3N
https://dl.doubtnut.com/l/_1wcuK9aUsKns

card drawn

is a multiple of 3 or 5.

° Watch Video Solution

14. A dice is thrown once. Find the probability
of getting a number :

less than 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_1wcuK9aUsKns
https://dl.doubtnut.com/l/_nbtz3JAhakFe

15. A dice is thrown once. Find the probability
of getting a number :

greater than or equal to 4.

o Watch Video Solution

16. A dice is thrown once. Find the probability
of getting a number :

less than 8.

o Watch Video Solution



https://dl.doubtnut.com/l/_k09yEJ3dEdLd
https://dl.doubtnut.com/l/_pt3G74jdEOsQ
https://dl.doubtnut.com/l/_Y7G5IJF2ge8v

17. A dice is thrown once. Find the probability
of getting a number :

greater than 6.

o Watch Video Solution

18. A book contains 85 pages. A page is chosen
at random. What is the probability that the

sum of the digits on the pageis 8 7

o Watch Video Solution



https://dl.doubtnut.com/l/_Y7G5IJF2ge8v
https://dl.doubtnut.com/l/_9A5RgH6YYV5w
https://dl.doubtnut.com/l/_xTMfL2JTHuFq

19. A pair of dice is thrown . Find the
probability of getting a sum of 10 or more, if 5

appears on the first die .

o Watch Video Solution

20. If two coins are tossed once, what is the
probability of getting :

2 heads ?

o Watch Video Solution



https://dl.doubtnut.com/l/_xTMfL2JTHuFq
https://dl.doubtnut.com/l/_W6X3AAnLnYxd

21. If two coins are tossed once, what is the
probability of getting :

at least one head ?

o Watch Video Solution

22. If two coins are tossed once, what is the
probability of getting :

both heads or both tails ?

o Watch Video Solution



https://dl.doubtnut.com/l/_FrmqX7FlCBuB
https://dl.doubtnut.com/l/_m4qpEWCkDGXk
https://dl.doubtnut.com/l/_WPVmo27dKW3f

23. Two dice are rolled together. Find the

probability of getting a total of at least 10.

° Watch Video Solution

24. Two dice are rolled together. Find the
probability of getting a multiple of 2 on one

dice and an odd number on the other dice.

° Watch Video Solution



https://dl.doubtnut.com/l/_WPVmo27dKW3f
https://dl.doubtnut.com/l/_1FrTV1p0DrHp

25. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card

drawn is a spade.

o Watch Video Solution

26. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card
drawn is:

(ii) a red card.

° Watch Video Solution



https://dl.doubtnut.com/l/_v8fzvrcOjnRd
https://dl.doubtnut.com/l/_JEsVjSzaKefn

27. A card is drawn from a well shuffled pack of
52 cards . Find the probability of

a face card

° Watch Video Solution

28. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card
drawn is:

(iv) 5 of heart or diamond.

o Watch Video Solution



https://dl.doubtnut.com/l/_JEsVjSzaKefn
https://dl.doubtnut.com/l/_C1ODcprjTCzE
https://dl.doubtnut.com/l/_B8TOLF7wdKGV

29. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card
drawn is:

(v) Jack or queen.

o Watch Video Solution

30. A card is drawn from a well-shuffled pack of

52 cards. Find the probability that the card


https://dl.doubtnut.com/l/_B8TOLF7wdKGV
https://dl.doubtnut.com/l/_C3fJum8RGkoT
https://dl.doubtnut.com/l/_ivYybtycepiF

drawn is:

(vi) ace and king.

° Watch Video Solution

31. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card
drawn is:

(vii) a red and a king.

o Watch Video Solution



https://dl.doubtnut.com/l/_ivYybtycepiF
https://dl.doubtnut.com/l/_uKXVgk8hY4ak

32. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card
drawn is:

(viii) a red or a king.

o Watch Video Solution

33. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is

chosen, without looking into the bag. Find the


https://dl.doubtnut.com/l/_KguS8yTaC5gQ
https://dl.doubtnut.com/l/_9dwFdVMVQ5jo

probability that the ball chosen is :

(1) red

° Watch Video Solution

34. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is
chosen, without looking into the bag. Find the
probability that the ball chosen is :

(ii) not red

° Watch Video Solution



https://dl.doubtnut.com/l/_9dwFdVMVQ5jo
https://dl.doubtnut.com/l/_xkLA4rgD8TqI
https://dl.doubtnut.com/l/_pQJlYOblkkt5

35. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is
chosen, without looking into the bag. Find the
probability that the ball chosen is :

(i) white

o Watch Video Solution

36. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is

chosen, without looking into the bag. Find the


https://dl.doubtnut.com/l/_pQJlYOblkkt5
https://dl.doubtnut.com/l/_AjqrtSzjrp80

probability that the ball chosen is :

(iv) not white

° Watch Video Solution

37. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is
chosen, without looking into the bag. Find the

probability that the ball chosen is green or red

° Watch Video Solution



https://dl.doubtnut.com/l/_AjqrtSzjrp80
https://dl.doubtnut.com/l/_BnIpT7OaGgeX
https://dl.doubtnut.com/l/_jU7UX8oIHBDJ

38. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is
chosen, without looking into the bag. Find the
probability that the ball chosen is white or

green .

o Watch Video Solution

39. A bag contains 16 coloured balls. Six are
green, 7 are red and 3 are white. A ball is

chosen, without looking into the bag. Find the


https://dl.doubtnut.com/l/_jU7UX8oIHBDJ
https://dl.doubtnut.com/l/_TIjfXZ5oyKEJ

probability that the ball chosen is green or red

or white.

° Watch Video Solution

40. A ball is drawn at random from a box
containing 12 white, 16 red and 20 green balls.
Determine the probability that the ball drawn
is:

(1) white

° Watch Video Solution



https://dl.doubtnut.com/l/_TIjfXZ5oyKEJ
https://dl.doubtnut.com/l/_BqIRjGfud4HD
https://dl.doubtnut.com/l/_5xrxMRsW4vn6

41. A ball is drawn at random from a box
containing 12 white, 16 red and 20 green balls.
Determine the probability that the ball drawn
is:

(i) red

° Watch Video Solution

42. A ball is drawn at random from a box
containing 12 white, 16 red and 20 green balls.

Determine the probability that the ball drawn


https://dl.doubtnut.com/l/_5xrxMRsW4vn6
https://dl.doubtnut.com/l/_EE5FbpQ3rhfW

is:

(i) not green

° Watch Video Solution

43. A ball is drawn at random from a box
containing 12 white, 16 red and 20 green balls.
Determine the probability that the ball drawn
is:

(iv) red or white.

° Watch Video Solution



https://dl.doubtnut.com/l/_EE5FbpQ3rhfW
https://dl.doubtnut.com/l/_uB12jTOJCVN4
https://dl.doubtnut.com/l/_R1jjkMLiKTU4

44, A card is drawn from a pack of 52 cards.
Find the probability that the card drawn is :

(i) a red card

° Watch Video Solution

45, A card is drawn from a pack of 52 cards.
Find the probability that the card drawn is :

(ii) a black card

° Watch Video Solution



https://dl.doubtnut.com/l/_R1jjkMLiKTU4
https://dl.doubtnut.com/l/_QsmppIHqvNby
https://dl.doubtnut.com/l/_D50xRc2nLbWL

46. A card is drawn from a well-shuffled pack of
52 cards. Find the probability that the card

drawn is a spade.

° Watch Video Solution

47. A card is drawn from a well shuffled pack of
52 cards . Find the probability of

an ace

° Watch Video Solution



https://dl.doubtnut.com/l/_D50xRc2nLbWL
https://dl.doubtnut.com/l/_Do5u9szF9s44

48. A card is drawn from a pack of 52 cards.
Find the probability that the card drawn is :

(v) a black ace

o Watch Video Solution

49, A card is drawn from a pack of 52 cards.
Find the probability that the card drawn is ace

of diamonds.

o Watch Video Solution



https://dl.doubtnut.com/l/_lW0fWbcxNZva
https://dl.doubtnut.com/l/_PaRZA43QtPw1
https://dl.doubtnut.com/l/_UPTBMcZDELLG

50. A card is drawn from a pack of 52 cards.
Find the probability that the card drawn is not

a club.

o Watch Video Solution

51. A card is drawn from a pack of 52 cards.
Find the probability that the card drawn is a

queen or a jack.

o Watch Video Solution



https://dl.doubtnut.com/l/_UPTBMcZDELLG
https://dl.doubtnut.com/l/_pg5HGInokPRh
https://dl.doubtnut.com/l/_sB8PRkFspHIy

52. Thirty identical cards are marked with
numbers 1 to 30. If one card is drawn at
random, find the probability that it is :

(i) a multiple of 4 or 6.

(i) a multiple of 3 and 5

(iii) @ multiple of 3 or 5

o Watch Video Solution

53. Thirty identical cards are marked with

numbers 1 to 30. If one card is drawn at


https://dl.doubtnut.com/l/_sB8PRkFspHIy
https://dl.doubtnut.com/l/_Fia1B8mEstYQ

random, find the probability that it is :

a multiple of 3 and 5.

° Watch Video Solution

54. Thirty identical cards are marked with
numbers 1 to 30. If one card is drawn at
random, find the probability that it is a

multiple of 3 or 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_Fia1B8mEstYQ
https://dl.doubtnut.com/l/_levY1ilR9WkP

55. In a single throw of two dice, find the

probability of a doublet .

° Watch Video Solution

56. In a single throw of two dice, find the
probability of :

(i) a number less than 3 on each dice.

° Watch Video Solution



https://dl.doubtnut.com/l/_dH5UEaRoV9UK
https://dl.doubtnut.com/l/_8IRtSrRNMXm8

57. In a single throw of two dice, find the
probability of :

(iii) an odd number as a sum.

o Watch Video Solution

58. In a single throw of two dice, find the
probability of :

(iv) a total of atmost 10.

o Watch Video Solution



https://dl.doubtnut.com/l/_EkEN5ljGbaTX
https://dl.doubtnut.com/l/_j4YW3aGOlXft
https://dl.doubtnut.com/l/_SIze9PM79FjW

59. In a single throw of two dice, find the
probability of an odd number on one dice and
a number Jess than or equal to 4 on the other

dice.

° Watch Video Solution

Exercise 25 C

1. A bag contains 3 red balls, 4 blue balls and

one yellow ball, all the balls being identical in

shape and size. If a ball is taken out of the bag


https://dl.doubtnut.com/l/_SIze9PM79FjW
https://dl.doubtnut.com/l/_468NjCMZZaWF

without looking into it, find the probability
that the ball is :

(1) yellow

° Watch Video Solution

2. A bag contains 3 red balls, 4 blue balls and
one yellow ball, all the balls being identical in
shape and size. If a ball is taken out of the bag
without looking into it, ind the probability
that the ball is :

(i) red

| e |


https://dl.doubtnut.com/l/_468NjCMZZaWF
https://dl.doubtnut.com/l/_gFnG1FKpS7yA

& Wwatch Video Solution I

3. A bag contains 3 red balls, 4 blue balls and
one yellow ball, all the balls being identical in
shape and size. If a ball is taken out of the bag
without looking into it, find the probability
that the ball is :

(iii) not yellow

o Watch Video Solution



https://dl.doubtnut.com/l/_gFnG1FKpS7yA
https://dl.doubtnut.com/l/_ZZ3FnxRQgIdt

4. A bag contains 3 red balls, 4 blue balls and
one yellow ball, all the balls being identical in
shape and size. If a ball is taken out of the bag
without looking into it, find the probability
that the ball is :

(iv) neither yellow nor red

o Watch Video Solution

5. A dice is thrown once. What is the

probability of getting a number :


https://dl.doubtnut.com/l/_8oLX90ZtHAxX
https://dl.doubtnut.com/l/_KDqQZL3Yi14L

(i) greater than 2 ?

o Watch Video Solution

6. A dice is thrown once. What is the
probability of getting a number less than or

equalto 2?

o Watch Video Solution

7. From a well-shuffled deck of 52 cards, one

card is drawn. Find the probability that the


https://dl.doubtnut.com/l/_KDqQZL3Yi14L
https://dl.doubtnut.com/l/_tOvK9O6ZM9I7
https://dl.doubtnut.com/l/_dKB53k1ffgTF

card drawn is a face card.

o Watch Video Solution

8. From a well-shuffled deck of 52 cards, one
card is drawn. Find the probability that the

card drawn is not a face card.

o Watch Video Solution

9. From a well-shuffled deck of 52 cards, one

card is drawn. Find the probability that the


https://dl.doubtnut.com/l/_dKB53k1ffgTF
https://dl.doubtnut.com/l/_UCUdVudkrO6W
https://dl.doubtnut.com/l/_eLoSL3XEs5K9

card drawn is :

(iii) a queen of black colour.

° Watch Video Solution

10. From a well-shuffled deck of 52 cards, one
card is drawn. Find the probability that the

card drawn is a card with number 5 or 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_eLoSL3XEs5K9
https://dl.doubtnut.com/l/_bCL0z6GBdcbh

1. From a well-shuffled deck of 52 cards, one
card is drawn. Find the probability that the

card drawn is a card with number less than 8.

o Watch Video Solution

12. From a well-shuffled deck of 52 cards, one
card is drawn. Find the probability that the
card drawn is :

(vi) a card with number between 2 and 9.

° Watch Video Solution



https://dl.doubtnut.com/l/_TbCdlKEah9Rb
https://dl.doubtnut.com/l/_gayMbJtpfzi2

13.In a match between A and B, the probability
of winning of A is 0.83. What is the probability
of winning of B when there is no other result

then win or lose?

o Watch Video Solution

14.1n a match between A and B, the probability
of losing the match is 0.49 for B . What is the
probability of winning of A if they had only

result win or lose?


https://dl.doubtnut.com/l/_gayMbJtpfzi2
https://dl.doubtnut.com/l/_uMVn24MwVMI6
https://dl.doubtnut.com/l/_Tt51znmAr0zX

° Watch Video Solution

15. A and B are friends. Ignoring the leap year,
find the probability that both friends will have

different birthdays.

° Watch Video Solution

16. A and B are friends. Ignoring the leap year,
find the probability that both friends will have

the same birthday.

| e |


https://dl.doubtnut.com/l/_Tt51znmAr0zX
https://dl.doubtnut.com/l/_M8Sgc0O0groA
https://dl.doubtnut.com/l/_YTPfmE1UukdT

& Wwatch Video Solution I

17. A man tosses two different coins (one of Rs.
2 and another of Rs. 5) simultaneously. What is
the probability that he gets :

at least one head ?

° Watch Video Solution

18. A man tosses two different coins (one of Rs.

2 and another of Rs. 5) simultaneously. What is


https://dl.doubtnut.com/l/_YTPfmE1UukdT
https://dl.doubtnut.com/l/_x9TELd7WHXiz
https://dl.doubtnut.com/l/_Iig0rDCeveyp

the probability that he gets :

atmost one head ?

° Watch Video Solution

19. A box contains 7 red balls, 8 green balls and
5 white balls. A ball is drawn at random from
the box. Find the probability that the ball is

white.

o Watch Video Solution



https://dl.doubtnut.com/l/_Iig0rDCeveyp
https://dl.doubtnut.com/l/_Sqa8z8O81WSZ

20. A box contains 7 red balls, 8 green balls
and 5 white balls. A ball is drawn at random
from the box. Find the probability that the ball

is neither red nor white.

o Watch Video Solution

21. All the three face cards of spades are
removed from a well-shuffled pack of 52 cards.
A card is then drawn at random from the

remaining pack. Find the probability of getting


https://dl.doubtnut.com/l/_ACBxq1OYhwmC
https://dl.doubtnut.com/l/_xLvcEJ3XRkn1

(i) a black face card

° Watch Video Solution

22. All the three face cards of spades are
removed from a well-shuffled pack of 52 cards.
A card is then drawn at random from the

remaining pack. Find the probability of getting

(i) a queen

o Watch Video Solution



https://dl.doubtnut.com/l/_xLvcEJ3XRkn1
https://dl.doubtnut.com/l/_bDmU1qX1noSw

23. All the three face cards of spades are
removed from a well-shuffled pack of 52 cards.
A card is then drawn at random from the
remaining pack. Find the probability of getting

a black card.

o Watch Video Solution

24. In a musical chairs game, a person has
been advised to stop playing the music at any

time within 40 seconds after its start. What is


https://dl.doubtnut.com/l/_bDmU1qX1noSw
https://dl.doubtnut.com/l/_pnQHdfdQcPy5
https://dl.doubtnut.com/l/_nULkXfTagtR4

the probability that the music will stop within

the first 15 seconds ?

° Watch Video Solution

25. In a bundle of 50 shirts, 44 are good, 4
have minor defects and 2 have major defects.
What is the probability that a shirt is
acceptable to a trader who accepts only a

good shirt ?

° Watch Video Solution



https://dl.doubtnut.com/l/_nULkXfTagtR4
https://dl.doubtnut.com/l/_a5C1kmyhvTVI
https://dl.doubtnut.com/l/_ZWFaqvAPTjkC

26. In a bundle of 50 shirts, 44 are good, 4
have minor defects and 2 have major defects.
What is the probability that :

(i) it is acceptable to a trader who rejects only

a shirt with major defects ?

° Watch Video Solution

27. Two dice are thrown at the same time. Find
the probability that the sum of the two

numbers appearing on the top of the dice is :

(1) 8


https://dl.doubtnut.com/l/_ZWFaqvAPTjkC
https://dl.doubtnut.com/l/_crvfiN5lOvcM

° Watch Video Solution

28. Two dice are thrown at the same time. Find
the probability that the sum of the two
numbers appearing on the top of the dice is :

(i) 13

o Watch Video Solution

29. Two dice are thrown at the same time. Find

the probability that the sum of the two


https://dl.doubtnut.com/l/_crvfiN5lOvcM
https://dl.doubtnut.com/l/_7jZrbVfbZ1Fi
https://dl.doubtnut.com/l/_8MQ2R0SFOpzX

numbers appearing on the top of the dice is :

(iii) less than or equal to 12.

° Watch Video Solution

30. Is the value 3/7 can be the probability of an

event or not ?

o Watch Video Solution

31. Is the value 0.82 can be the probability of

an event or not ?


https://dl.doubtnut.com/l/_8MQ2R0SFOpzX
https://dl.doubtnut.com/l/_7V6RODhcBkSH
https://dl.doubtnut.com/l/_CtVwAfzwmG8f

° Watch Video Solution

32. Which of the following cannot be the

probability of an event ?

(i) 0 (ii) 0.82 (iii) 37 % (iv) —2.4

° Watch Video Solution

33. Is the value -2.4 can be the probability of

an event or not ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CtVwAfzwmG8f
https://dl.doubtnut.com/l/_gSHhvdPxrXpf
https://dl.doubtnut.com/l/_819IIXRZWVJ5

34.1f P(E) = 0.59, find P(not E).

o Watch Video Solution

35. A bag contains a certain number of red
balls. A ball is drawn. Find the probability that

the ball drawn is black.

o Watch Video Solution



https://dl.doubtnut.com/l/_819IIXRZWVJ5
https://dl.doubtnut.com/l/_96bsSAkIzYX3
https://dl.doubtnut.com/l/_H7P0ZPecxiRZ

36. A bag contains a certain number of red
balls. A ball is drawn. Find the probability that

the ball drawn is red.

o Watch Video Solution

37. The probability that two boys do not have
the same birthday is 0.897. What is the

probability that the two boys have the same

birthday ?

° Watch Video Solution



https://dl.doubtnut.com/l/_bsH2VQgfFStY
https://dl.doubtnut.com/l/_yV8CNT2TslYv

38. A bag contains 10 red balls, 16 white balls
and 8 green balls. A ball is drawn out of the
bag at random. What is the probability that

the ball drawn is not red ?

o Watch Video Solution

39. A bag contains 10 red balls, 16 white balls
and 8 green balls. A ball is drawn out of the
bag at random. What is the probability that

the ball drawn is neither red nor green ?


https://dl.doubtnut.com/l/_yV8CNT2TslYv
https://dl.doubtnut.com/l/_D1RYaW9ZUjkA
https://dl.doubtnut.com/l/_qjhQEgOkwJlh

o Watch Video Solution

40. A bag contains 10 red balls, 16 white balls
and 8 green balls. A ball is drawn out of the
bag at random. What is the probability that

the ball drawn is white or green ?

o Watch Video Solution

41. A bag contains twenty Rs. 5 coins, fifty Rs. 2

coins and thirty Rs. 1 coins. If it is equally likely


https://dl.doubtnut.com/l/_qjhQEgOkwJlh
https://dl.doubtnut.com/l/_TxZEcglJXXSC
https://dl.doubtnut.com/l/_3SvjhAVbSsXM

that one of the coins will fall down when the
bag is turned upside down, what is the

probability that the coin is a Rs. 1 coin ?

o Watch Video Solution

42. A bag contains twenty Rs. 5 coins, fifty Rs. 2
coins and thirty Rs. 1 coins. If it is equally likely
that one of the coins will fall down when the
bag is turned upside down, what is the
probability that the coin :

(ii) will not be a Rs. 2 coin ?

| e |


https://dl.doubtnut.com/l/_3SvjhAVbSsXM
https://dl.doubtnut.com/l/_mFZP87KGxJrn

& watch Video Solution I

43. A bag contains twenty Rs. 5 coins, fifty Rs. 2
coins and thirty Rs. 1 coins. If it is equally likely
that one of the coins will fall down when the
bag is turned upside down, what is the
probability that the coin :

(iii) will neither be a Rs. 5 coin nor be a Rs. 1

coin ?

° Watch Video Solution



https://dl.doubtnut.com/l/_mFZP87KGxJrn
https://dl.doubtnut.com/l/_pUcu3k4SCIPz

44. A game consists of spinning an arrow
which comes to rest pointing at one of the
numbers 1,2,3,4,5,6,7,8,9,10, 11, 12, as
shown below.

Lo

If the outcomes are equally likely, find the

probability that the pointer will point at :

(1) 6

o Watch Video Solution



https://dl.doubtnut.com/l/_kyIfZBBaAKrQ

45. A game consists of spinning an arrow
which comes to rest pointing at one of the
numbers 1,2,3,4,5,6,7,8,9,10,11,12. If
the outcomes are equally likely, find the
probability that the pointer will point at an

even number.

o Watch Video Solution

46. A game consists of spinning an arrow

which comes to rest pointing at one of the


https://dl.doubtnut.com/l/_Wj8qLBZS0dmm
https://dl.doubtnut.com/l/_TYMEKdeZOzvk

numbers 1,2,3,4,5,6,7,8,9,10,11, 12. If
the outcomes are equally likely, find the
probability that the pointer will point at a

prime number.

o Watch Video Solution

47. A game consists of spinning an arrow
which comes to rest pointing at one of the
numbers 1,2,3,4,5,6,7,8,9,10, 11,12, as

shown below.


https://dl.doubtnut.com/l/_TYMEKdeZOzvk
https://dl.doubtnut.com/l/_abhbbfJgusI9

If the outcomes are equally likely, find the
probability that the pointer will point at :

(i) a number greater than 8.

o Watch Video Solution

48. A game consists of spinning an arrow

which comes to rest pointing at one of the


https://dl.doubtnut.com/l/_abhbbfJgusI9
https://dl.doubtnut.com/l/_Gg3rUoZPdnTl

numbers 1,2,3,4,5,6,7,8,9,10,11, 12. If
the outcomes are equally likely, find the
probability that the pointer will point at a

number less than or equal to 9.

o Watch Video Solution

49. A game consists of spinning an arrow
which comes to rest pointing at one of the
numbers 1,2,3,4,5,6,7,8,9,10,11, 12. If

the outcomes are equally likely, find the


https://dl.doubtnut.com/l/_Gg3rUoZPdnTl
https://dl.doubtnut.com/l/_IkmYNxYot1VK

probability that the pointer will point at a

number between 3 and 11.

° Watch Video Solution

50. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting :

(i) a queen of red colour.

° Watch Video Solution



https://dl.doubtnut.com/l/_IkmYNxYot1VK
https://dl.doubtnut.com/l/_cshrWpEeWvZN

51. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting :

(ii) a black face card.

o Watch Video Solution

52. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting :

(iii) the jack or the queen of hearts.

o Watch Video Solution



https://dl.doubtnut.com/l/_V8j1zQ7LfLbU
https://dl.doubtnut.com/l/_MklHi6cVBLMA
https://dl.doubtnut.com/l/_tXSM7961KFCz

53. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting a

diamond.

o Watch Video Solution

54. One card is drawn from a well-shuffled deck
of 52 cards. Find the probability of getting a

diamond or a spade.

o Watch Video Solution



https://dl.doubtnut.com/l/_tXSM7961KFCz
https://dl.doubtnut.com/l/_gZMaMra66s4G
https://dl.doubtnut.com/l/_h4d2HtJk6Gs6

55. From a deck of 52 cards, all the face cards
are removed and then the remaining cards are
shuffled. Now one card is drawn from the
remaining deck. Find the probability that the
card drawn is :

(i) a black card.

o Watch Video Solution

56. From a deck of 52 cards, all the face cards
are removed and then the remaining cards are

shuffled. Now one card is drawn from the


https://dl.doubtnut.com/l/_h4d2HtJk6Gs6
https://dl.doubtnut.com/l/_ph1xfIGXvhXY

remaining deck. Find the probability that the
card drawn is :

(ii) 8 of red colour.

° Watch Video Solution

57. From a deck of 52 cards, all the face cards
are removed and then the remaining cards are
shuffled. Now one card is drawn from the
remaining deck. Find the probability that the
card drawn is :

(iii) a king of black colour.

| e |


https://dl.doubtnut.com/l/_ph1xfIGXvhXY
https://dl.doubtnut.com/l/_zwxyHQK3wYFa

& Watch Video Solution I

58. Seven cards : the eight, the nine, the ten,
jack, queen, king and ace of diamonds are well
shuffied. One card is then picked up at
random.

(1) What is the probability that the card drawn

is the eight or the king ?

o Watch Video Solution



https://dl.doubtnut.com/l/_zwxyHQK3wYFa
https://dl.doubtnut.com/l/_L4IPl3Cumus5

59. Seven cards : the eight, the nine, the ten,
jack, queen, king and ace of diamonds are well
shufled. One card is then picked up at
random.

(i) If the king is drawn and put aside, what is
the probability that the second card picked up

is: (a) an ace ? (b) a king ?

o Watch Video Solution



https://dl.doubtnut.com/l/_cRhctFC0F7Nj

60. A box contains 150 bulbs out of which 15
are defective. It is not possible to just look at a
bulb and tell whether or not it is defective.
One bulb is taken out at random from this
box. Calculate the probability that the bulb
taken out is :

(i) a good one

o Watch Video Solution



https://dl.doubtnut.com/l/_6hhnySDIOa0i

61. A box contains 150 bulbs out of which 15
are defective. It is not possible to just look at a
bulb and tell whether or not it is defective.
One bulb is taken out at random from this
box. Calculate the probability that the bulb
taken out is :

(ii) a defective one.

o Watch Video Solution



https://dl.doubtnut.com/l/_SvHF88T9JwRg

62. (i) 4 defective pens are accidentally mixed
with 16 good ones. It is not possible to just
look at a pen and tell whether or not it is
defective. One pen is drawn at random from
the lot. What is the probability that the pen is

defective ?

o Watch Video Solution

63. 4 Defective Pens Are Accidentally Mixed

with 16 Good Ones. It is Not Possible to Just


https://dl.doubtnut.com/l/_TlF8CUmEDK0K
https://dl.doubtnut.com/l/_ZdJnvYRXicVJ

Look at a Pen and Tell Whether Or Not It is
Defective. One Pen is Drawn at Random from
the Lot

Suppose the pen drawn is defective and is not
replaced. Now one more pen is drawn at
random from the rest. What is the probability
that this pen is : (a) defective ? (b) not

defective ?

o Watch Video Solution



https://dl.doubtnut.com/l/_ZdJnvYRXicVJ

64. A bag contains 100 identical marble stones
which are numbered from 1 to 100. If one
stone is drawn at random from the bag, find
the probability that it bears a perfect square

number.

o Watch Video Solution

65. A bag contains 100 identical marble stones
which are numbered from 1 to 100. If one

stone is drawn at random from the bag, find


https://dl.doubtnut.com/l/_ggP7DDemmFVP
https://dl.doubtnut.com/l/_JDetqfIA7xsh

the probability that it bears a number divisible

by 4.

o Watch Video Solution

66. A bag contains 100 identical marble stones
which are numbered from 1 to 100. If one
stone is drawn at random from the bag, find
the probability that it bears :

(iii) a number divisible by 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_JDetqfIA7xsh
https://dl.doubtnut.com/l/_jgPUrr8G2dqo
https://dl.doubtnut.com/l/_5igCifUO7RCG

67. A bag contains 100 identical marble stones
which are numbered from 1 to 100. If one
stone is drawn at random from the bag, find
the probability that it bears :

(iv) a number divisible by 4 or 5.

o Watch Video Solution

68. A bag contains 100 identical marble stones
which are numbered from 1 to 100. If one

stone is drawn at random from the bag, find


https://dl.doubtnut.com/l/_5igCifUO7RCG
https://dl.doubtnut.com/l/_Lxvhw8dvmiTP

the probability that it bears :

(v) a number divisible by 4 and 5.

o Watch Video Solution

69. A circle with diameter 20 c¢cm is drawn
somewhere on a rectangular piece of paper
with length 40 cm and width 30 cm. This paper
is kept horizontal on table top and a dice, very
small in size, is dropped on the rectangular
paper without seeing towards it. If the dice

falls and lands on the paper only, find the


https://dl.doubtnut.com/l/_Lxvhw8dvmiTP
https://dl.doubtnut.com/l/_XzETanS8P4pp

probability that it will fall and land inside the

circle.

o Watch Video Solution

70. A circle with diameter 20 cm is drawn
somewhere on a rectangular piece of paper
with length 40 cm and width 30 cm. This paper
is kept horizontal on table top and a dice, very
small in size, is dropped on the rectangular
paper without seeing towards it. If the dice

falls and lands on the paper only, find the


https://dl.doubtnut.com/l/_XzETanS8P4pp
https://dl.doubtnut.com/l/_Z7HobVPc6RRY

probability that it will fall and land :

(ii) outside the circle.

° Watch Video Solution

71. Two dice (each bearing numbers 1 to 6) are
rolled together. Find the probability that the
sum of the numbers on the upper-most faces
of two dice is :

(i) 4 or 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z7HobVPc6RRY
https://dl.doubtnut.com/l/_1M8kacNIh94r
https://dl.doubtnut.com/l/_fuO0xkl4FkZk

72.Two dice (each bearing numbers 1to 6) are
rolled together. Find the probability that the
sum of the numbers on the upper-most faces
of two diceis :

(i) 7,8 or 9.

o Watch Video Solution

73. Two dice (each bearing numbers 1to 6) are
rolled together. Find the probability that the

sum of the numbers on the upper-most faces


https://dl.doubtnut.com/l/_fuO0xkl4FkZk
https://dl.doubtnut.com/l/_HZkraCQdqKiV

of two diceis :

(iii) between 5 and 8.

° Watch Video Solution

74.Two dice (each bearing numbers 1to 6) are
rolled together. Find the probability that the
sum of the numbers on the upper-most faces
of two dice is :

(iv) more than 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_HZkraCQdqKiV
https://dl.doubtnut.com/l/_y9tI9KzHQUbQ
https://dl.doubtnut.com/l/_PNfaXIfHrkbD

75. Two dice (each bearing numbers 1to 6) are
rolled together. Find the probability that the
sum of the numbers on the upper-most faces
of two diceis :

(v) less than 6.

° Watch Video Solution

76. Three coins are tossed together. Write all
the possible outcomes. Now, find the
probability of getting :

exactly two heads.


https://dl.doubtnut.com/l/_PNfaXIfHrkbD
https://dl.doubtnut.com/l/_TeIdvZqmrufn

° Watch Video Solution

77. Three coins are tossed together. Write all

the possible outcomes.
probability of getting :

at least two heads.

Now, find

the

o Watch Video Solution

78. Three coins are tossed together. Write all

the possible outcomes.

Now, find

the


https://dl.doubtnut.com/l/_TeIdvZqmrufn
https://dl.doubtnut.com/l/_TLPNHKrRzuXu
https://dl.doubtnut.com/l/_Msgd4d08J0et

probability of getting :

atmost two heads.

° Watch Video Solution

79. Three coins are tossed together. Write all
the possible outcomes. Now, find the
probability of getting :

all tails.

o Watch Video Solution



https://dl.doubtnut.com/l/_Msgd4d08J0et
https://dl.doubtnut.com/l/_xL4DB1dYdPwR

80. Three coins are tossed together. Write all
the possible outcomes. Now, find the
probability of getting :

at least one tail.

° Watch Video Solution

81. Two dice are thrown simultaneously. What
is the probability that :

(1) 4 will not come up either time ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oeNyaZXktlny
https://dl.doubtnut.com/l/_5lee5cYoAS7x

82. Two dice are thrown simultaneously. What
is the probability that :

(i1) 4 will come up at least once ?

o Watch Video Solution

83. Cards marked with numbers 1, 2, 3, 4, ... 20
are well shufled and a card is drawn at
random. What is the probability that the
number on the card is :

a prime number ?


https://dl.doubtnut.com/l/_5lee5cYoAS7x
https://dl.doubtnut.com/l/_6XETEjsSqU8l
https://dl.doubtnut.com/l/_pBYWfYCKFTyR

° Watch Video Solution

84. Cards marked with numbers 1, 2, 3, 4, .... 20
are well shufled and a card is drawn at
random. What is the probability that the
number on the card is :

divisible by 3 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_pBYWfYCKFTyR
https://dl.doubtnut.com/l/_z4qyBxebbdyh

85. Cards marked with numbers 1, 2, 3, 4, ... 20
are well shufled and a card is drawn at
random. What is the probability that the
number on the card is :

a perfect square ?

o Watch Video Solution

86. Offices in Delhi are open for five days in a
week (Monday to Friday). Two employees of an

office remain absent for one day in the same


https://dl.doubtnut.com/l/_dUe83OSvvHgB
https://dl.doubtnut.com/l/_yu0d9AwLGORH

particular week. Find the probability that they
remain absent on:

(1) the same day

° Watch Video Solution

87. Offices in Delhi are open for five days in a
week (Monday to Friday). Two employees of an
office remain absent for one day in the same
particular week. Find the probability that they
remain absent on :

(i) consecutive day

| e |


https://dl.doubtnut.com/l/_yu0d9AwLGORH
https://dl.doubtnut.com/l/_JCK9mkTw0XAH

& Wwatch Video Solution I

88. Offices in Delhi are open for five days in a
week (Monday to Friday). Two employees of an
office remain absent for one day in the same
particular week. Find the probability that they
remain absent on :

(iii) different days.

° Watch Video Solution



https://dl.doubtnut.com/l/_JCK9mkTw0XAH
https://dl.doubtnut.com/l/_gMAJbERoMoZP

89. A box contains some black balls and 30
white balls. If the probability of drawing a
black ball is two-fifths of a white ball, find the

number of black balls in the box.

o Watch Video Solution

90. From a pack of 52 playing cards, all cards
whose numbers are multiples of 3 are

removed. A card is now drawn at random.


https://dl.doubtnut.com/l/_381ueSBc9Nv6
https://dl.doubtnut.com/l/_Bst3AnBQrSt5

What is the probability that the card drawn is

(i) a face card (King, Jack or Queen)

° Watch Video Solution

91. From a pack of 52 playing cards, all cards
whose numbers are multiples of 3 are
removed. A card is now drawn at random.
What is the probability that the card drawn is

(ii) an even numbered red card ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Bst3AnBQrSt5
https://dl.doubtnut.com/l/_dWyfHSnA5Jsd
https://dl.doubtnut.com/l/_F1ae4NZpAp6F

92. A dice has 6 faces marked by the given
below :

1,2,3,-1,-2,-3

The dice is thrown once. What is the

probability of getting a positive integer?

° Watch Video Solution

93. A dice has 6 faces marked by the given
below :
1,2,3,-1,-2,-3

The dice is thrown once. What is the


https://dl.doubtnut.com/l/_F1ae4NZpAp6F
https://dl.doubtnut.com/l/_Bh0QQ7YT8YUl

probability of getting an integer greater than

—3?

° Watch Video Solution

94. A dice has 6 faces marked by the given
below :

1,2,3,-1,-2,-3

The dice is thrown once. What is the

probability of getting the smallest integer?

° Watch Video Solution



https://dl.doubtnut.com/l/_Bh0QQ7YT8YUl
https://dl.doubtnut.com/l/_3J2ODNqaJ15D
https://dl.doubtnut.com/l/_v21cvAjfHhVy

95. A bag contains 5 white balls, 6 red balls
and 9 green balls. A ball is drawn at random
from the bag. Find the probability that the ball
drawn is :

(i) a green ball.

o Watch Video Solution

96. A bag contains 5 white balls, 6 red balls
and 9 green balls. A ball is drawn at random

from the bag. Find the probability that the ball


https://dl.doubtnut.com/l/_v21cvAjfHhVy
https://dl.doubtnut.com/l/_C1tttdUiYOES

drawn is :

(ii) a white or a red ball.

° Watch Video Solution

97. A bag contains 5 white balls, 6 red balls and
9 green balls. A ball is drawn at random from
the bag. Find the probability that the ball
drawn is :

(i) neither a green ball nor a white ball.

° Watch Video Solution



https://dl.doubtnut.com/l/_C1tttdUiYOES
https://dl.doubtnut.com/l/_B4QN3fCSYOYg
https://dl.doubtnut.com/l/_iWwXSXhs6dqa

98. A game of numbers has cards marked with
1, 12, 13, ... , 40. A card is drawn at random.
Find the probability that the number on the
card drawn is :

(i) a perfect square

o Watch Video Solution

99. A game of numbers has cards marked with
1, 12, 13, ... , 40. A card is drawn at random.

Find the probability that the number on the


https://dl.doubtnut.com/l/_iWwXSXhs6dqa
https://dl.doubtnut.com/l/_IbOeS2ZEorub

card drawn is :

(i1) divisible by 7.

° Watch Video Solution

100. Sixteen cards are labelled as
a,b,c,........ , M, N, 0, p. They are put in a box
and shuffled. A boy is asked to draw a card
from the box. What is the probability that the
card drawn is :

(i) a vowel

o Watch Video Solution



https://dl.doubtnut.com/l/_IbOeS2ZEorub
https://dl.doubtnut.com/l/_Cr7Eup5FSi88

101. Sixteen cards are labelled as a, b, c,..... m, n.
o,p. They are put in a box and shuffled. A boy is
asked to draw a card from the box. What is the
probability that the card drawn is :

(ii) a consonant

o Watch Video Solution

102. Sixteen cards are labelled as a, b, c,..... m,
n.o,p. They are put in a box and shuffled. A boy

is asked to draw a card from the box. What is


https://dl.doubtnut.com/l/_Cr7Eup5FSi88
https://dl.doubtnut.com/l/_Lbf5BKoJf991
https://dl.doubtnut.com/l/_DwNwMDMA900c

the probability that the card drawn is :

(iii) none of the letters of the word 'median'.

o Watch Video Solution

103. A box contains a certain number of balls.
On each of 60% balls, letter A is marked. On
each of 30% balls, letter B is marked and on
each of remaining balls, letter C is marked. A
ball is drawn from the box at random. Find the
probability that the ball drawn is :

(i) marked C

| e |


https://dl.doubtnut.com/l/_DwNwMDMA900c
https://dl.doubtnut.com/l/_yP0XpxZuBtgF

& Wwatch Video Solution I

104. A box contains a certain number of balls.
On each of 60% balls, letter A is marked. On
each of 30% balls, letter B is marked and on
each of remaining balls, letter C is marked. A
ball is drawn from the box at random. Find the
probability that the ball drawn is :

(i) AorB

° Watch Video Solution



https://dl.doubtnut.com/l/_yP0XpxZuBtgF
https://dl.doubtnut.com/l/_HFykdnSSLd2w

105. A box contains a certain number of balls.
On each of 60% balls, letter A is marked. On
each of 30% balls, letter B is marked and on
each of remaining balls, letter C is marked. A
ball is drawn from the box at random. Find the
probability that the ball drawn is :

(iii) neither B nor C.

o Watch Video Solution



https://dl.doubtnut.com/l/_IklfmEH97x10

106. A box contains a certain number of balls.
Some of these balls are marked A, some are
marked B and the remaining's are marked C.
When a ball is drawn at random from the box
P(A) = % and P(B) = % If there are 40
balls in the box which are marked C, find the

number of balls in the box.

o Watch Video Solution



https://dl.doubtnut.com/l/_Yuo5aL3iRFsc

